a(d cot(B))

107 Y=

1072 -

O 1.U0 O 1.U0
IS IS
o | i e £ i i e i o
1
0.95F-------+-- kbl - M HEE - FEERATE- - {HF -5 [
0.9 : i : 0.95L : : ' : :
0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_TT__ORIGINAL
—e— DQM_TT__MODIFIED_propToPlane_PRVersionFINAL2
—— DQM_TT__MODIFIED_propToPlane_PRVersionFINAL3
- = 1
IS = o
S e
> 5
) : o
1 Lo RS (R N 11 O O ©
Fe------ IR BRI B seeremeeees
Lo EOY O 11 111111 N1 A 107"
N ﬁ 1 N
.91_011,:....|....l....l....l....l.... .9101{
I E i I
o {1 EPRR P e - [ 44 4 44 - EEELEREEEEE ¥ 1.05
o | b
0.95F------t- <AL e 1F
O.G: N | 1 i N | 0'95: N N " | N |
=3 -2 -1 0 1 2 3 =3 -2 - 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

Lo E

T E

S 1of : St U
112— ---------------------------------
ISR i AN 110 04 1 11

0o 1 2 3
TP n (PCA to beamline)

|
w

If.
N

|
[



	Contents
	Page 1


